Primer

Optimalna Simpleks tablica:

2

baza b | x| xo| wy | woy
o [ lofol-3-
T R
TR AL
Ubacena jednacina za xs: Ubacena jednacina za z:
baza b | x| 29| wy | wy | ws baza b | x| 29| wy | wy | ws
z [ -2[]0]0[-2]-3]0 z [ -2[]0]0[-2]-3]0
Ty S Jol1] 2 ]-2]0 Ty S Jol1] 2 ]=-%]0
T 2 l1]o[-3] 3]0 T 2 l1]o[-3] 3]0
wy | -2]0]0]|—3F=2]1 wy | -2]0]0]|—3F=%]1
min{5, 3} = 3 min{5,1} =1
W3 <> W2 W3 <> Wo
baza b |z; | xo| wy | we | ws baza || b | x1 | 22 | w1 | we | ws
=z [[-Z]0]0[-I]0]—% =z [[-223]0]0]-2[0]-1
T s o1 ] 5 ]0]—3 w [[2]0]1]3]0]-1
o [ B ]1]0o]-2]0] 3 x [ 3]1]0]-2[0]1
w, | 3 JOJO] 2 | 1[—3 w, [ 3]0]0]2]1]-4




